MFM2P-QUADRATIC EXPRESSIONS UNIT 4 — DAY 1 - NOTE DATE:

ALGEBRAIC EXPRESSIONS (ReVIEW)

An algebraic expression is a mathematical statement made up of _ €A nn € and __ Oeraiond

1) Distributive Property (Rainbow)
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2) Collecting Like Terms
“Like Terms” have exactly the same variable raised to the same exponent. Simplify

equations by collecting like terms. A simplified expression will have NO like terms.

Simplify _ < ‘
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3) Exponents and Squaring :
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Expand (and simplify ¢ and d) )
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Exponent Rules: a™ + a"=a™ + a" am x an = gmtn (ab)™ = ambm

(am)n = gmxn am = gt = gmn
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4) Evaluating Algebraic Expressions

Substitute the value for the variable and solve.

Solve
a) 2x+3 Forx=3 b) 2x +3 Forx = -4
=218 B = 2(-4) +3
= b +3 - — % +3
= q = =5
c) 4x2 For x = 2 d) (4x)2 For x = 2
3 ~ 1
= W(2) = [ 4]
= () = <
=
= 1k = ot
5) Factors of Numbers
A factoris a _ Number or _eyp(eSsion that divides _=VE N
into another "N\ Ui ser or __&WVPresSsS o
Solve
a) Factor 20 b) Factor 16 c) Factor-27 d) Factor-12
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6) Integer Pairs

“Sum” means __ A

Q0 | h On

“Product” means
Find two integers that that meet the requirements

a) Multiply to 24

Mult P L cation

b) Multiply to -36

c) Multiply to -12
Add to 11 Add to -9 Add to 4
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